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* 	~§:'if5.1:~ : ;zfi:!;:tllfBJtl!!Jf.JGt_tl, :Ml~ r~mm~5ELIJ*::;g~ltTGt.ft J .m! 

1. $~ft -1i ~ Fa' ~(0,6)ffJ~SJ ~ -i§:ft&tAl~thlfst. 61itt*,it ' j!1h\:l:. 6 1itl*itffJ~SJ:it;t!~""f ;'Hor:ft1t 
lJit.? 

2. 	 1111t~i #t.11J; i!A. , ;t1. ffJ ~"'" # ..4 0.50 ' {f.1JHi.I\iAl\~th lfst. 10 1:!L.g..~ eAi # i! ~ , tA ~ tc..,:& 7.r ~ 
~tc..ij; 10 {:!Li! ~ ffJi!~(1111~.A.:t~~:A. ~ i!):Jt) • ~IJ ~ ~*.:n.A.i!{i , ;t1. ffJ~l$Jt 

(a)O.l; (b)0.2; (c)O.4; (d)0.7; (e)tAJ:. 'f~f. 0 

3. 	 :ftJtfl Chebyshev's :f: $f. j.\~.)!-~IJ *~.)JtU ~ :J1t-1f-1. f/.J~l" : 1:r-&lA)\tt*Ff.J~:itJ:E..~ Ff.JJJfll{t 
{f. .::.-11 tl~ .!. :t.. P'J ffJ ~ -t-4 

(a)tJ-m-:f.; (b)A~ 1; (c).*..m-( ~)0.75; (d)Am-(*)0.88; (e)J-AJ:. t ~f 0 

4. 	1'1~tl1tltt'J{f.""f::ki!.f.r.::.~' 1tl1~i!A.i!4ti.4tJ.i1J!1tt 'ltl!lAl4thJfX. j 7521:!L*~.g..~i! 

~ i!4t i.4t J.i1J!1-W $ ~th tllft .!. -11..if- ~ 3 1iEf 1t'6 r:J ' lj;::ktJ!l-w. .tt *- ffJ 1t ,~ 7j( ~ J.t } ~' ?I 

(a) 0.975; (b) 0.95; (c) 0.99; (d) 0.80; (e) 0.90 0 

y =Po + PIXI + P2X 2 + P3X )+ P4 X4 + PsXs + 6 0 

rE"~:ittJiiif~","J']""f ;lj.g~1t ANOVA *­

.if ~:ftl(SS) ~ rE J.t(DF) J~ 7J:.:fIl(MS) 
I 

180 
230 45 

Fit 
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~i5J!t : 266, n 1 IJ :1LiJ.'#J A~-O-.df-&.~±$l«!t~~~~ ~,~ , ~ ~ 

~PJT*J3.JJU: fr~t~~z.*Jl.,~t~~~~tiH%?JT 

~~~~3.j. § : *Jc~t. 

* :::1J~mt).±.: *~~lrilJ~fflfttll. ' ~~ r ~m~,*;ELIJ~:::1J~.T~t.ft j 

~i~8 Wl : 0225 • rrJ::x : 3 

Uim! 

;6 y ffM-*'~itX2,X3,X4 ,& Xs 1~t~ti@.!~1.lt~£ .if-~:ftl J., SSE=210 'ffJJ:I:AltiX.~Jt Ho: PI == 0 ' 

tj. M"" F 11J., -fiiJ? 

(a) 5.3333; (b) 2.2222; (c) 6.6667; (d) 7.3333; (e) 7.6667. 

6. 	 9:llli~t~ 50 ~6J)f1fl."tfHf~o:-M~6J~.i.~iUIII~ ROA(J:J. Y :ltiF)~tt~6J4i:-JItjlft. 
EPS( J,A X :It iF)Jii.if. foJ ~;At ~~ ~ , iJl'~/.} 6J »vtX~ n~ Jl:b~n~ 1~ iif m ~t'rt~iX.* iF-lto r:0 

(a) J:.3t~'l±f~iX.{~:It ffl1f-.if--1ti.t ; 
(b) J:.3tA.;.'l±*X iX.1~* ffl1f-7j(.if-~ ; 
(c) J:.ilUl'l±*lt iX.1.lt:lt ffl1f- 5t ;il~ ; 
(d) J:.Mf.i~.'/i*~ iX.1.lt* -11~7j( .if- it ; 
00 J:.3tit~~iX.:ltiF~•••t~o 

7. 1111i-14-.~.H!:fb1f~1m~ , .tt~ 200 1jz,~m*~HJTr~~~~ W' !j.tt~ 160 ~m*4C-~~J p , 

~). 0......20 ~,*c.~tt111~~t$*€t-J~t.~:JUJL ' M.1t$t*-lto:lt 

-r*m~w 4C-M,~J P 

*JA~·:it. ~ =200 ~ =160 

**-*-.if-J~ :it. ~ =8.7 x2 == 5.2 

**-*-*I.f1!£ 81 == 2.4 82 =1.7 i 

~~.*.f1!a=Oillr'.a.B~A:it.*~A~"~JtA=~'.M,,"~JtM.#t~11. 
-fiiJ? 

(a) 16.17; (b) 1.62; (c) 1.96; (d) 74.69; (e) 7.47. 

8. 	 1'1l.t--*~pq.tt~ 8 {OO;k.+ ' jf 1:-Ji~!IlJ! ' J\- tf* 4 kLJ;jt 4 ,W,J:-jt • i!4t~"~-ltor : r 9:l 
*~tf~~&J;jt'.~~ili~~~J· •••~axJ.,~.~~~kLJ;jt€t-J.a'.M~~~~ 

2 {OO kLJ;jUr.J *t $. .1ii]'? 

(a) 0.3125; (b) 0.0625; (c) 0.2500; (d) 0.5000; (e) 0.6875. 

I 
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(a) *1. t; (b) f~ F; (c) 't~ z; (d) ~lt{~~t.; (e) -t7i 0 

Mff~tt(X) -2 -1 

.&.J,Ii ~ tt(y) 0 0.5 

2 

2 

i@.Jf~ 7i :£i!b1OJ(mean square due to regression) ? 

(a) 0; (b) 0.5; (c) 1.0; (d) 2.5; (e) 5.0. 

-tf-:+t. ~~*(X) 90.8 76.0 79.7 62.8 74.1 83.0 

~Mt(Y) 3.40 2.80 2.80 . 

tY.X~1.~.~_Y=A+AX+E'~t.:£~E.~~AA~.~ 
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~PJT~J3JJU: ,*~t*~z.~l3.,~t~siZiti~Tf~ffi-
~~f4 § : *JC~¥ 

e' 1._~••~~*ffl~-.~**M+~a+.'~••~~.~25~~A*fflA~*· 
>1 ?H4....~251:tt.~Aft ffl B~ it- • it lI:..b ~A. m+ - + _PIT ffl a;t M($}-~i) ffJ #t.lt :t-lto""f : 

1.56.60 

1.86.10B~* 25 

~lt!{-1O:-1:tt.~AM++.1.-1t." R;tM~l.vt 't ~$}-iJi~ • Ji2.JJl+~~~ikA8 '" 0 *it#(~A~* 
~-lttt..if-J~~Jl+a;tM it: ~A~B~*~-ittt..if-MJ JJl+*M ' -ltoforil4t:ftJt ? (t.Hi.rf..1t2l.J 

~) 0 

Ji' 	*~~~~j.~~Jf*l(TEJ)~f~ffl1f,"(TCRI)' $-~~ii~J5JT~'JW~~~ 50 ~~ttJj~:f~~6]~* 
l{$.~$}-~ : 11: tt(~-~6] ~ TCRI=l, ~ 2, M v). Y=l .f'of.~~6] •• tt)& -:U:(~-~ 6] 
~ TCRI A~(*")3, AIJ J:J. Y=O *-~1~~ 6] lb -:U:) , -8- A.'-if" ffl Ii i!f AA~.(Logistic regression) 

ffOM- M~6] *l(*~•• Ll~-:U:~*~lfi ' +*~r31J£Jij~~tt: Xl=4i:Jl!(.i.-t.t.(jt), X2=$1n. 
tIJ ~I:.lfi(%), X3= ~ 1t~l:.lfi(%),& X4=JJt*Jlt;f~ lfi(%) , ~A".lf5l2000-2009 Jf-~ 100 */~6] i 
#'.~~~~r~ai!fAA~.~.~ 

In(~J = f(x),
l-P 

f(x) =3.9728+0.4922Xl-0.0119X2-0.0895X3+0.5570X4. 

i11-ltu- *-/~ 6] ~Mf!~it1t~ Xl=3.86, X2=444.70, X3=14.05, a X4=6.76,t«.;Jtt~~ 6] ~*l{ 

*~•• l~•• '. P~1t,ft•••~1tJ5JT~*-ffJ~.o 

http:X3=14.05
http:X2=444.70
http:R;tM~l.vt

